

Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines (046) 889-6373

www.cvsu.edu.ph

INVITATION TO SUBMIT QUOTATION Supply and Delivery of Sports Equipment for CvSU Bacoor Campus

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Sports Equipment for CvSU Bacoor Campus" with an Approved Budget for the Contract (ABC) of Two Hundred Ninety-Seven Thousand Pesos Only (PhP 297,000.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

| Item No. | Unit | Description | Quantity | Unit Cost | Total Cost |
|-------------|------|--|----------|-----------|------------|
| 1. | рс | BASKETBALL BALL, MEN Specifications: • Materials: Synthetic PU Leather 12 Panels Laminated • Size: #7 | 3 | 3,450.00 | 10,350.00 |
| 2. | рс | BASKETBALL BALL, WOMEN Specifications: • Materials: Synthetic PU Leather 12 Panels Laminated • Size: #6 | 3 | 3,200.00 | 9,600.00 |
| 3. | рс | FOOTBALL BALL Specifications: • Size: 5 • Diameter: 21.5-22cm • Weight: 420-450g • 32 panels and PU Leather | 3 | 5,000.00 | 15,000.00 |
| 4. | рс | FUTSAL BALL Specifications: • Size: 5 (21.5cm/8.6inch in diameter) • Material: Leather • Suitable for site: grass, soil, wood, rubber | 3 | 2,750.00 | 8,250.00 |
| 5. | tube | SHUTTLE COCK Specifications: • Width: 2.28"-2.68" • Weight: .167194 oz • Head Diameter: .98"-1.1" • Feather Length: 2.44"-2.76" • Head Circumference: 3.09"- 3.46" • Feather Circumference: .17"-8.4" • Materials: Goose or duck feathers (traditional) cork or rubber head | 20 | 1,600.00 | 32,000.00 |
| 6. | рс | WHISTLE – ELECTRONIC Specifications: • 3 Tone • Powered by 4 PCS CR2032 batteries | 5 | 700.00 | 3,500.00 |
| 7. | рс | PRO DISC CONE Specifications: | 30 | 1,500.00 | 45,000.00 |

| | | Materials: Durable and flexible PVC | | | |
|-----|-------|---|----|-----------|-----------|
| | | cones | | | |
| | | Color: Orange | | | |
| | | Height: 2.5 inches x 7.5 inches | | | |
| | | AGILITY LADDER | | | |
| | | Specifications: | | | |
| 8. | рс | • Length: 10m, 20 sections | 2 | 1,550.00 | 3,100.00 |
| | | Materials: Nylon Webbing, PP | | | |
| | | BASKETBALL BALL, 3x3 | | | |
| | | Specifications: | | | |
| 9. | рс | Materials: Synthetic PU | 3 | 2,000.00 | 6,000.00 |
| 0. | | Color: Blue/Orange/Yellow | | 2,000.00 | 0,000.00 |
| | | Weight: 16 ounces | | | |
| | | BUZZER, BASKETBALL | | | |
| | | Specifications: | | | |
| | | • Input: 110/220V | | | |
| 10. | unit | Output: 12V DC | 2 | 12,000.00 | 24,000.00 |
| | G.I.C | • Rating: 144 watts | _ | 12,000.00 | 21,000.00 |
| | | 12V Converter/Charger | | | |
| | | • Full wave 12 amps | | | |
| | | KARATE-DO UNIFORM | | | |
| | | Specifications: | | | |
| | | • Size: Small (2) | | | |
| 4.4 | aat | Medium (3) | 10 | 2 000 00 | 20,000,00 |
| 11. | set | Large (3) | 10 | 3,000.00 | 30,000.00 |
| | | X-Large (2) | | | |
| | | Material: Poly-cotton fabric | | | |
| | | Complete Set: Upper/Lower | | | |
| | | KARATE-DO BELT | | | |
| | | Specifications: | | | |
| 12. | рс | • Size: 280 cm | 10 | 500.00 | 5,000.00 |
| 12. | PC | Material: Cotton | 10 | 300.00 | 3,000.00 |
| | | • Color: White (2) / Yellow (2) / Green (2) | | | |
| | | / Blue (2) / Black (2) | | | |
| | | PICKLEBALL BALL | | | |
| | | Specifications: | | | |
| 13. | рс | • Size: Diameter – 2.87 inches | 4 | 900.00 | 3,600.00 |
| | | Material: Polyethylene (PE) | | | , |
| | | Color: Yellow | | | |
| | | Weight: 0.92 ounces | | | |
| | | PICKLEBALL NET | | | |
| | | Specifications: | | | |
| 14. | set | Size: 34in x 22 ft x 36in x 20 in Material: PE Knotless Net & Strong | 1 | 4,500.00 | 4,500.00 |
| | | | | | |
| | | Metal & PVC Tarp - Color: Yellow/Black • Weight: 0.92 ounces | | | |
| | | PICKLEBALL PADDLE | | | |
| | | Specifications: | | | |
| | | Grip Size: 4 1/2 inches | | | |
| 15. | рс | • Size: 15.5" length and 8.25" width | 4 | 4,500.00 | 18,000.00 |
| 10. | pc | Material: Graphite | - | 4,500.00 | 10,000.00 |
| | | Color: Green/Red/Blue | | | |
| | | Weight: 7.8-8.2 ounces | | | |
| | | | | | |
| | | I KEEEKEE STANII (VOILLEYBALL) | | | |
| | | REFEREE STAND (VOLLEYBALL) Specifications: | | | |
| 16. | unit | Specifications: • Height: 230cm | 2 | 5,000.00 | 10,000.00 |

| Standing area height: 135cm | | I | | T | <u> </u> | |
|---|-----|------|---|---|---|-----------|
| Standing area and bottom shelf: 68 x 60 cm HPL thinness: 10mm Color: Blue UMPIRE CHAIR (BADMINTON) Specifications: Height: 1.85m Length: 1.20m 3 5,000.00 15,000.00 Width: 0.89m Materials: Steel Color: White SCOREBOARD (VARIOUS GAMES) Specifications: Manual Scoreboard Color: Black Scoreboard for Table Tennis (2 pcs) SCOREBOARD (BASKETBALL) Specifications: Manual Scoreboard 3 500.00 1,500.00 Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles; 2 white fiberglass bottom poles, and 2 antenna pockets Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Vellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Sc zm) ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint-coated solid metal grills (4,2 cm & 5,2 cm) Armor: Reversible design (Blue/Red) Provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves Arm and Leg Guard Hand Gloves | | | Materials: Steel | | | |
| 60 cm He | | | | | | |
| HPL thinness: 10mm | | | | | | |
| Color: Blue UMPIRE CHAIR (BADMINTON) Specifications: Height: 1.85m 15,000.00 | | | 60 cm | | | |
| UMPIRE CHAIR (BADMINTON) Specifications: Height: 1.85m Length: 1.20m 3 5,000.00 15,000.00 15,000.00 | | | HPL thinness: 10mm | | | |
| Specifications: Height: 1.85m Height: 1.85m Length: 1.20m 3 5,000.00 Width: 0.89m Materials: Steel Color: White SCOREBOARD (VARIOUS GAMES) Specifications: Manual Scoreboard 7 1,000.00 Scoreboard for Badminton (3 pcs) Scoreboard for Table Tennis (2 pcs) Scoreboard for Table Tennis (2 pcs) Scoreboard for Volleyball (2 pcs) Scoreboard 3 500.00 Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets expand From 35' - 38.5' to accommodate different net heights and also lace to the net Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint-coated solid metal grills 4.2 cm & 5.2 cm) Armor: Reversible design (Blue/Red) provides versatility in usage during Sparring matches Arm and Leg Guard Hand Gloves | | | Color: Blue | | | |
| Specifications: Height: 1.85m Height: 1.85m Length: 1.20m 3 5,000.00 Width: 0.89m Materials: Steel Color: White SCOREBOARD (VARIOUS GAMES) Specifications: Manual Scoreboard 7 1,000.00 Scoreboard for Badminton (3 pcs) Scoreboard for Table Tennis (2 pcs) Scoreboard for Table Tennis (2 pcs) Scoreboard for Volleyball (2 pcs) Scoreboard 3 500.00 Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets expand From 35' - 38.5' to accommodate different net heights and also lace to the net Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint-coated solid metal grills 4.2 cm & 5.2 cm) Armor: Reversible design (Blue/Red) provides versatility in usage during Sparring matches Arm and Leg Guard Hand Gloves | | | UMPIRE CHAIR (BADMINTON) | | | |
| Height: 1.85m Length: 1.20m Notice: 20m Notice: 20 | | | · · · · · · · · · · · · · · · · · · · | | | |
| 17. | | | | | | |
| Width: 0.89m Materials: Steel | 17. | unit | | 3 | 5,000,00 | 15.000.00 |
| Materials: Steel Color: White | | | | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | , |
| Color: White SCOREBOARD | | | | | | |
| SCOREBOARD (VARIOUS GAMES) Specifications: Manual Scoreboard 7 1,000.00 7,000.00 Color: Black Scoreboard for Badminton (3 pcs) Scoreboard for Table Tennis (2 pcs) Scoreboard for Volleyball (2 pcs) Scoreboard for Volleyball (2 pcs) Scoreboard for Volleyball (2 pcs) SCOREBOARD (BASKETBALL) Specifications: Manual Scoreboard 3 500.00 1,500.00 Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. Adjustable: Antenna Pockets expand from 35" - 38.5" to accommodate different net heights and also lace to the net. Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint-coated solid metal grills (4.2 cm & 5.2 cm), Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves Hand Gloves Arm and Leg Guard | | | | | | |
| (VARIOUS GAMES) Specifications: Manual Scoreboard Color: Black Scoreboard for Table Tennis (2 pcs) Scoreboard for Volleyball (2 pcs) Scoreboard Specifications: Octobre (2 pc) Specifications: Octobre (2 pc) | | | | | | |
| Specifications: Manual Scoreboard 7 1,000.00 7,000.00 | | | | | | |
| Manual Scoreboard Color: Black Scoreboard for Badminton (3 pcs) | | | | | | |
| 18. pc Color: Black Scoreboard for Badminton (3 pcs) | | | · · | | | |
| Scoreboard for Badminton (3 pcs) | 18. | рс | | 7 | 1,000.00 | 7,000.00 |
| Scoreboard for Table Tennis (2 pcs) | | | | | | · |
| Scoreboard for Volleyball (2 pcs) SCOREBOARD (BASKETBALL) Specifications: | | | | | | |
| 19. pc Manual Scoreboard 3 500.00 1,500.00 | | | ` ' ' | | | |
| Specifications: Manual Scoreboard 3 500.00 1,500.00 Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. Adjustable: Antenna Pockets expand from 35" - 38.5" to accommodate different net heights and also lace to the net. Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm) Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| 19. pc | | | 1 | | | |
| Color: Red-Blue 6 Digits VOLLEYBALL ANTENNA Specifications: 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | · · | | | |
| • 6 Digits VOLLEYBALL ANTENNA Specifications: • 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. 20. set • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint-coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | 19. | рс | | 3 | 500.00 | 1,500.00 |
| VOLLEYBALL ANTENNA Specifications: • 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | Color: Red-Blue | | | |
| Specifications: • 2 highly-visible, red-striped fiberglass poles, 2 white fiberglass bottom poles, and 2 antenna pockets. • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | • 6 Digits | | | |
| 20. set 20 | | | VOLLEYBALL ANTENNA | | | |
| poles, 2 white fiberglass bottom poles, and 2 antenna pockets. • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | Specifications: | | | |
| and 2 antenna pockets. • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | • 2 highly-visible, red-striped fiberglass | | | |
| and 2 antenna pockets. • Adjustable: Antenna Pockets expand from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | , , , | | | |
| Set | | | · | | | |
| from 35" – 38.5" to accommodate different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | 20. | set | | 2 | 3.000.00 | 6.000.00 |
| different net heights and also lace to the net. • Top rod: 100 cm • bottom rod: 84 cm VOLLEYBALL BALL Specifications: • Composite • Yellow and Blue • Dimpled • Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | | | , | -, |
| net. Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| Top rod: 100 cm bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| bottom rod: 84 cm VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| VOLLEYBALL BALL Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| Specifications: Composite Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| 21. pc | | | | | | |
| Yellow and Blue Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| Dimpled Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves ARNIS FULL GEAR (RED) Specifications: 1 12,000.00 12,000.00 | 21. | рс | | 3 | 5,200.00 | 15,600.00 |
| Weight: 260 grams ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves ARNIS FULL GEAR (RED) Specifications: 1 12,000.00 12,000.00 | | | | | | |
| ARNIS FULL GEAR (RED) Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | • vveignt. 200 grams | | | |
| Specifications: Color: Red Size: #3/Large Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | ADNIC FULL OF AD (DED) | | | |
| • Color: Red • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | | | | |
| • Size: #3/Large Set • Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | · | | | |
| Set Head Gear: Made of synthetic leather and paint- coated solid metal grills (4.2 cm & 5.2 cm). Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches Arm and Leg Guard Hand Gloves | | | | | | |
| 22. set and paint- coated solid metal grills (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves 1 12,000.00 12,000.00 | | | - | | | |
| (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | | | | | |
| (4.2 cm & 5.2 cm). • Armor: Reversible design (Blue/Red) provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | 22 | set | | 1 | 12 000 00 | 12 000 00 |
| provides versatility in usage during sparring matches • Arm and Leg Guard • Hand Gloves | | 301 | | ' | 12,000.00 | 12,000.00 |
| sparring matches • Arm and Leg Guard • Hand Gloves | | | Armor: Reversible design (Blue/Red) | | | |
| Arm and Leg Guard Hand Gloves | | | provides versatility in usage during | | | |
| Arm and Leg Guard Hand Gloves | | | sparring matches | | | |
| Hand Gloves | | | Arm and Leg Guard | | | |
| Groin Guard (Male) | | | _ | | | |
| - Cioni Guara (maio) | | | Groin Guard (Male) | | | |

| TOTAL AMOUNT 297,000.00 |
|---------------------------|
|---------------------------|

- 2. Delivery Period: ____ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Procurement Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **April 7, 2025.**

Address : Procurement Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : procurementoffice@cvsu.edu.ph / rfgmain@cvsu.edu.ph

Telefax : (046) 889-6373

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN

BAC Secretary, Goods and Consulting Services